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'Problem 1. As shown in the figure, the uniform slender rod with mass m and length L is held in the

equilibrium position by hinge A and cord BC. Determine the angular velocity of the rod AB immediately
after BC is cut.( 452820 % » %4840 15 )

(A) 3g/2L (B) g/2L (C) 2gL (D) 3gL (E) 3g/L
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Problem 2 Continuing from Problem 1, please also determine the magnitude of the reaction force at

hinge A immediately after BC is cut. (4558 20 5 > £45440 15 )
(A) mg/4 (B) mg/3 (C) mg/2 (D) mg (E) 2mg
Problem 3 As shown in the figure, a cylinder with a radius  moves on a moving flat plate. The plate has

The angular velocity of the cylinder
of the

an instantaneous velocity v; and is accelerating to the right with a;.

is w and its angular acceleration is a. The contact point A does not slip. Determine the velocity Vg

cylinder’s center. (##8 15 i Kbk fE|30 10 )
(A) V(=) B) V, —rw(=) (C) Vy +rw(=) D) V(<) (B) V1 = ra(=)
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Problem 4 Continuing from Problem 3, please also determine the acceleration a, of the cylinder’s center.

(A) a1 (=) B) ay (<) (C) a; — rw? +ra(=) (D) a; + ra(=) (E) a, — ra(—)
L—@:gﬁ 15 4 » %4¢4830 10 )
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Problem 5 Continuing from Problem 3, please also determine the velocity Vj att
b ro() ER1S 5 Bkl 104)

(A V1 (<) B) V(=) Q0 D) Vi +ra(=) B)h

he bottom of the cylinder.

Problem 6 Continuing from Problem 3, please also determine the acceleration a, at the bottom of the

cylinder. (A) a;T + rw?j (B) a;T - rw?j (C) —a;i + rw?j (D) —ail — rw?j (E) ro®]

(55815 4 %4848l10 10 )




